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Parent Information: Multiplication & Division (4th Grade)
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Students in 4th grade multiply up to 4-digit numbers by 1-digit numbers and multiply 2-digit numbers
by 2-digit numbers and divide up to 4-digit numbers by 1-digit numbers using strategies and models
as well as the standard algorithm. Students solve one- and two-step problems involving addition,
subtraction, multiplication, and division including interpreting remainders and use variables in
equations to represent unknown quantities.
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Factor: A number being multiplied.

Product: The answer in a multiplication problem.

3x5=15 3 and>5 are factors. 15 is the product.

Multiple: The product of a number and any other number. 0, 5, 10, 15, and 20 are all multiples of 5.
Representing Multiplication: 3 x5 =15

Array: Items arranged in equal rows and columns.

3 rows of
5
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Area Model: A grid with equal rows and columns. 3 rows of 5
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Repeated Addition: Adding the same number multiple times. 5+5+5

Skip Counting: Counting by a number other than one. 5, 10, 15
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Number Line: A line marked in regular intervals.
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Three jumps of five is 15
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Strip Diagram: A part-part-whole model that represents a problem.
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Two-digit by two-digit multiplication is introduced with area models that model the steps of the
traditional algorithm.



34 x 62

1,800
240
30 30 x 60 = 1,800 30 60
w2 u
+ 60 2,108
4 4 x 60 = 240 4 x2=8
60 + 2
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Arrays can be used for three- and four-digit by one-digit multiplication problems.

6,723 x 4
24,000
4 | 6000 x4=24,000 |700x4=2800 20 x4 =80 3x4=12 2,800
80
+ 12
26,892
6,000 + 700 + 20 + 3
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Students need to know the product of a number and 10 or 100. Students may be asked to use this
information in a table or a diagram.

Number Number x 100
36 3,600
421 42,100

504 50,400




X 10

140 Is correct

2,600 is not correct
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Multi-Step Problem: A problem that requires two or more actions to solve.

The fourth grade students made balloon bouquets to decorate the tables for a party. There are
3 fourth grade classes at the school.

e FEach balloon bouquet used 5 balloons.

e The classes used a total of 255 balloons.

e FEach class made the same number of balloon bouquets.
fCa JS lgaia Al b Ul GBL e oS

A Cliln) ) g A 12 g Auals
How many balloon bouquets did each class make?

Distributive Property: You can multiply a number by the addends of a number.
34 x 26 = (30x20) + (30 x6) + (4 x20)+ (4 x6)

34x6= 600 + 180 + 80 + 24
34 x6= 884
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Dividend: The total you divide into equal parts

Divisor: The number you divide by
Quotient The answer in a division problem.

15+3=5 15 is the dividend. 3 is the divisor. 5 is the quotient.
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Representing Division: 15+3 =5

Array: Items arranged in equal rows and columns.
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15 circles are divided into 3 equal
rows of 5 circles each
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Area Model: A grid with equal rows and columns. 15 squares divided into 3 equal rows of 5
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Number Line: A line marked in regular intervals.
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15 divided into 3 equal parts that are 5 units long.

OR students may solve as 15 divided into groups of 3 units each although this is technically 15 + 5 =3
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Strip Diagram: A part-part-whole model that represents a problem.
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15 divided into 3 equal parts. Each ? represents 5.
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Standard Algorithm: 3187



